
This product has been imported by:

BayKer Italia S.p.A. - via Ghiarola Nuova,85/87-41042 Fiorano Modenese (Modena)-ITALY

Installation with one side panel

ZEUS Stainless steel sliding door



1

3.2mm

6mm



2

Box Contents:
[1] 2xHorizontal Rails.

2xFlat Screws M4x8.
2x
1xLube.

Screw Cover Caps.

[2] 1xInstallation
Instruction.

[13]  2xFixed Panels.

[14] 1xDoor Panel.

[3] 1xHandle Sets.

[4] 6xProfile Covers.
4x Covers.
3xScrews M4x22.
3xRetainers.
6xWashers.
1xSpanner.

[7] 6xWall Plugs.
6xFlat Screws M4x35.
3xBlocks To Wall.

[6]  2 .xBottom Hooks
2xScrews M4x8
2xScrew Cover Caps.

[9]  4xWater Deflectors.
4xDeflectors.

[10] 3xAmortigua-Cristales.

[11]  1x
3xWall Posts.

Corner Post.



Assembly Drawing

3

¡

¡

¡

[13]

[12]

[9]

[10]

[14]

[16]

[17]

[11]

[3]

[1]

[2]

[4]

[5]

[6]

[7]

[8]

[15]

[19]
[18]

[21]

[22]

[20]

[1]  6xWall Plugs
[2]  6
[3]
[4]
[5]
[6]
[7]
[8]
[9]  2

xFlat Screws ST4x35
3xWall Posts
1xFixed panel
2xDeflectors
4xProfile Covers
2x Horizontal Rails
2xBumper Blocks

xBottom Rolls
[10]  1xHandle Set
[11]  2xScrews St4x8
[12]  3xBumper Blocks
[13]  3xScrews M4x22

[14] 2xTop Rolls
[15] 2xScrew Cover Caps
[16] 2xWater Deflectors
[17] 2xCover Caps
[18] 4xScrews ST4x8
[19] 2xProfile Covers
[20] 2xScrew Cover Caps
[21] 1xFixed panel
[22] 1xCorner Post
[23] 3xRetainers
[24] 6xWashers

8

Step 9

Step 10

1

1

M4X8

[23]

[24]



Installation Steps

Step 1

Step 2

4

Screw ST4x35

1

2

3
1

2

3

1

2

7mm

7

Step 7

Step 8

2

1

3

2

1

2

1

from inside

1 3

2

Door Panel



5

Step 3

Step 4

M4x22

fromTOP

1

4

1

M4x22

1

2

1

2

3

Screw ST4x35

3

4

6

Step 5

Step 6

2

1

2

1

¡

1

2

ST4X8

¡

1

1
3

3

2

3

from inside

from inside

3

3

2

3


